normalized X2

107

1072

107

0.1918

Std Dev

Ratio

[ normalized x? probability |

Ei

0.05

0.04]

0.03]

0.02

ntries

18 20
2

05060

0 0.10.20.3 0.4

70809 1
Prob(x2)

—— _original_stepZ__pilto20_efaIp6ioZp0
m—— DOM_mkFit_step2__pt1to20_etalp6to2p0
—— DQM_angle_step2__pt1to20_etalp6to2p0

e DQM_fast_step2__pt1to20_etalp6to2p0

= DQM_pix€[CPEGeneric_step2__ptlto20_etalp6to2p0

< X2/ ndf >

Ratio

< X2/ ndf >

Ratio

16
1.4

< X2/ ndf >

1.2

i

Ratio

1072

1 -1
AR(track, jet?



	Contents
	Page 1


